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1 BIRER B IC k1) B Bk

(£ 3)
R - R VAERL B BINMERE | 2HERRERAE
BAAYBEE (A) 14 11 54
HEE FEHYE %K (B) 1 1 26
TIRE %
fhe i P ol (A (A+B) *100) 93.3 9L.7 67.5
BAHYBEE (A) 3 4 85
HBRHE FEHYE %K (B) 3 2 65
TIRE %
(A/ (A+B) *100) 50 66.7 56.7
BAAYBEE (A) 44 24 80
HEE FEHYE %K (B) 28 8 56
TIRCE %
Hor (A/ (A+B) *100) 61.1 75 58.8
BAAYBEE (A) 4 2 108
HBHE FEHYE %K (B) 0 4 79
TIRE %
(AZ (A+B) *100) 100 33.3 o7 8
BAHYBEE (A) 36 5 71
HEE FEHYE %K (B) 34 3 61
e EORIEE %
Seme ﬂ%gﬁ’%‘ﬂ (A/ (ATB) #100) ol.4 62.5 53.8
e A A (A) 3 2 100
HBHE FEHYE %K (B) 1 6 87
TIRE %
(A/ (A+B) *100) 75 25 53.5
BAAYBEE (A) 46 0 71
HEE FEHYE %K (B) 5 0 17
N HAREE %
Z*ﬁgzﬂI (A/ (A+B) *100) 9.2 0 80.7
77 v AR SRR (A) 2 0 96
HBRHE FEHYE %K (B) 4 3 80
TIRCE %
(A (A+B) *100) 33.3 0 54.5
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(A (A+B) *100)

TR - R MEFRLA FIRVERE | 2FERIRERH

BT RL B E (A) 32 18 109

HHE AL R HE (B) 1 0 17
BEIER %

(A/ (A+B) #100) 97 100 86.5

HALHYE AL (A) 8 1 81

BEUE AL R HE (B) 35 11 108
BEIER %

_— (A (A+B) #100) 18.6 8.3 42.9

BT RL B E (A) 23 10 86

HHE AL R HE (B) 0 0 1
BEIER %

(A/ (A+B) *100) 100 100 98.9

BAAYEEE (A) 7 1 80

HBRHE FAEHELR A% (B) 38 11 113
THLE %

(AZ (A+B) *100) 156 8.3 -5

BT RL B E (A) 24 42 81

HHE AL R HE (B) 0 0 11
BEIER %

(A (A+B) %100) 100 100 88

BAAHYEEE (A) 22 0 96

HBRHE LR A% (B) 28 9 106
THLE %

D (A/ (A+B) #100) - 0 475

BT RL B E (A) 15 34 61

HHE ALY R HE (B) 0 0 4
BEIER %

(A/ (A+B) *100) 100 100 93.8

BAHYBEE (A) 7 0 83

HBHE FAEHELSR A% (B) 20 5 94

AR % 95.9 0 46.9
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TR - R MERE BRMMERE | 2R ERE
HALHYE AL (A) 14 — 108
HHE FAEHYEEE (B) 0 — 11
BEIER %
WEAREE R (A (A+B) *100) 100 * 90.8
BAAYBEE (A) 14 1 92
HBRHE FAEHELSR A% (B) 34 14 128
LT %
W (A (A+B) *100) 29.2 6.7 41.8
HALHYE AL (A) 2 — 57
HHE FAEHYEEE (B) 0 — 19
BEIER %
[ s B 2 (A (A+B) *100) 100 7 7
BAAYBEE (A) 4 2 83
HBRHE LR A% (B) 14 5 98
LT %
(AZ (A+B) *100) 22.2 28.6 15.9
HALAYE AL (A) 44 — 181
HHE ALY R HE (B) 0 — 69
BEIER %
I 8 2 SR (A (A+B) *100) 100 7 2.4
BAAYBEE (A) 6 3 65
HBHE FAEHELSR A% (B) 21 5 83
HRER %
A ERL (A (A+B) *100) 22.2 37.5 43.9
HALAYE AL (A) 29 — 134
HHE AL R HE (B) 1 — 38
BEIER %
*AtE AR (A (A+B) *100) 96.7 7 77.9
BAAHYEEE (A) 17 1 81
HBRHE FAEHELR A% (B) 26 5 92
LT %
(A/ (A+B) +100) 39.5 16.7 46. 8
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R - R DERHE | BIRGERE | RMREERA
B R A (A) 106 57 189
HHE AL R HE (B) 0 12 74

BEIER %
100 82.6 71.9

FEIBR AL [EI AL R Az ALD) *100)

EAAYS R A (A) 24 9 55
HBRHE FHEHME A% (B) 38 13 83

TRIEE %
(A/ (ALE) +100) 38.7 40. 9 39.9
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